SH2FEREMNRERE=11AENS

==
o¥k

1. SH2ERENRRGESEEEM (B2 RURKZRE (RAH) DLVT

(1) SH2HERENREBERSEER(RAHA)ITDT
1) EHISDEE
X4 HEF- 157 2 g =
HEF 185288 () B £ Al .
1H 9:30~12:00 BTSN HESE HEHTE
EHlE |5 RENENRERELVI— | ZOMMOBHLE il & & =
% B HR—IL il
A SHTENTRE
A4 HBE: 48248 () SH2EEXEETHE
= SH2ENZTE
HEF 11A16H(A)
118 10:00~ SH2EEEXEE(RAH)
TS | BFF RENENRERELVS— | SH2EINTRE(RAHA)
% B HR—IL

B &F - 357 AN B
HEF 1H28H(X)
9:30~ 12:00
2R BIRE. ZAOE
BF EERANESREL s | Do Bk RRORE
% BiHR—IL
HEF 3A18H(K) i
€GB
1A 10:00~11:00 e
B RS R HogmE | DRORRIOUT
E2[E o ?oi;ii-(o?)) [17358)
' ' BHEE(LS =y o] b
s e g_sgs | ERELEDEEOREIOLT




(R ]
L |Bm8ANBWY B 2 (L E R DR R T
%30 11:00~12:00 -
57 S0 B—sBE | .
B ATEIE BOREE | e mme pm RO
€55
t 1081
__|B& 108198 S EHEEDEE R NT
Ea[H 10:00~11:00 (58]
85 & s AsEen ha
B ATEIR Bo2BE | b e pRELREIoNT
3)IREELEEEE
L=l 6A218 (B) HR7BE~oH
QEEZEDEMIRR
X4 EEEEH FITF) SmAE (FIE)
145%%h 115% 243%
NRHE (14&% 9 &%£5%) (2554)
1 2&%m 7E% 366%
KPR (1 2&%kh 7£%) (2884%)
10&%c 6 &% 5074
Ladis (1 0&%h 9 £5%) (6114)
— X 15%%h 155% 263%
(1 5&%&%h 15%%) (188%)
29K%%h 20%% 4264
EOr
RO (29&K%h 24%%) (5594)
9 &E&H 4% 7 1%
Lt
AR (ofEsEh 7% (118%)
- 8o%K%Edh 63%K% 1, 8764
e (8 Q%R 7 0&%) (2, 010%)
XEEXEOBEIZCERUL--E, £Z0HFEL6 A2 1 BLSMZEESh-&
EDEREEET,
O3 =T ¢
(S4EE)] Tk 688% (75. 1%) FH 228%L (24. 9%)
(RIEE)] @ 504% (80. 6%) FH 121%L (19. 4%)



4) P EENE %
OEmE K 9HF27H (H) 8:00~

QB HEZEDEMIKR
X4 EREEH F1E) SMAH (F4)
14%%T  3%% 1264
J\SER X (14 &%t 5 &%) (24 24)
128%%%F 1 0%% 524%
Kigih X (12&%th 1 1&£%) (809%)
10%%%  5%3% 270%
& JER 3th X (10&%h 10&%) (8224)
_ 15%%EH 1 15% 280%
ZEH#h X (15&%h 1 1&%) (3554)
) 30&%EHR 20%% 630%
N SES-L Y < 1074
B X ( ofE%th &%) (1344)
st 8 OfEEh 53%% 1, 937%
a3 (8 9% 6 6&%) (3, 1524)
5) HESE X

I FEMBRTHESE
T2 FFHEIOF T4 I AERETEKEF LD 1= HFRERE

6) ZEMHENHEEX(BHR)
T2 FFHEIOF T4 I AERIEIKIF LD = HFRERE



